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1 2 4 5 6
ql Tt 2 1 13 10
2. | A= 3 2 1 6 2 4
3. | e 3 1 2 5 3 g
4. | itmmER 3 2 1 5 3 2
5. | A= 2 1 1 4 2 2
6. | WRO 3 2 1 7 6 1
7. | TS 2 2 — 5 1 4
8. TSR T 4 2 2 10 4 B
9. | =fwEm 4 3 1 8 3 5
10. | wifaerd 5 3 2 11 7 4
1. | "5 2 2 - 4 3 1
12. | AEqY 2 2 = 5 2 3
13. | giorEn 3 1 2 7 1 6
14. | @ 2 1 1 7 2 5
15. | whicalL 2 & 1 7 1 6
16. | ToRerst 1 1 - 4 1 3
17. | @fgan 2 1 1 4 1 3
18. | o 2 2 = 4 2 2
19, | T 2 1 1 2 3 —1
20. | YEa™ 4 4 - 5 4 1
21. | % 2 5 -3 : 3 11 ~8
22, | T 3 1 2 8 9 —1
23. | SEHER 1 1 = 2 3 =
24, | aEw 1 1 - 1 1 -
25 | fgam g 7 a2 6 5 1
26. | derrelt 2 2 = 8 6 2
27. | damer 3 5 2 N .6 2
28 | Tot@Ee 4 1 - 1 1 -
29 | @dm 3 4 = 9 9
30 | HEEH 4 4 = 10 7 3
31| HEEg 3 3 - 10 5 5
32 | gde 2 2 = 5 3 2
3B | R 1 1 = 3 2 1
34 | W 1 1 - 4 3 1
35 | o 1 1 - 2 1 1
36 | Qr&IYRT 1 — 1 ~1
37 | R 2 2 - 7 2
38 | WRTETHX 2 2 - 6 3 3
= 89 75 14 217 136 81
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